
Thank you for purchasing the W59412 12’ Professional Hand Tool Planogram.  This program was 

designed to utilize the valuable space in your store the most efficient way possible.   

Enclosed in this packet you will find: 

• Color photo of Planogram

• Numerical Listing Sheet by Section

• Breakdown Schematic of the Product Layout

• Insert Cards for Scan Tag Hooks

We recommend placing bars first starting bottom up, the aisle violator arms then the hooks and 

perforated scan tags before setting product. Please be sure to position hooks and product before locking 

the hooks onto the bars.  This will help ensure that even spacing is achieved as quickly as possible.  

Please also be advised that the bar height is for reference only, as you may have to adjust them slightly 

for your particular display space. 

The aisle violator hardware in designed to draw attention to this assortment from anywhere in the aisle. 

To utilize the aisle violators: 

1. Place the set screw in the hole in the base of the arm, and hand thread the oval-shaped stop

on the end of the screw.

2. Insert the stop into the appropriate upper slot in the Lozier upright, while inserting the

bottom tab of the aisle violator base in a lower slot.

3. Hold the aisle violator in place and tighten the set screw.  The stop attached to the set screw

should wedge itself inside the Lozier and allow you to fully tighten it until the aisle violator is

securely in place.

4. Remove the adhesive backing from the clear sign holder and apply to the outward extended

end of the aisle violator arm.

5. Repeat for all 4 aisle violators before attaching the signs.

If you have any questions on this program, or any other product inquiries, please do not hesitate to call. 

Thank you for your business! 



 

 

12 ft. Professional Hand Tool Planogram 
Features: 

• Full line of SAE and metric combination wrenches, specialty wrenches, wrench sets, and pliers and cutters  

• Complete range of 1/4, 3/8 and 1/2 inch ratchets, drive tool and accessories, as well as standard and deep wall sockets in 3/8”, & 1/4" drives 

• Torque specific items including torque wrenches, torque limiting extensions impact sets 

• Hex keys and screwdrivers with customized injection molded grips 

• A huge offering of value sets: screwdriver, pliers, nut-driver, socket, bit sockets universal sockets and more 

 

 

 

 

 

 



Model # Description Quantity Section Bar Sequence

W30006 6mm Combination Wrench 1 1 1 1

W30007 7mm Combination Wrench 1 1 1 2

W30008 8mm Combination Wrench 2 1 1 3

W30009 9mm Combination Wrench 1 1 1 4

W30010 10mm Combination Wrench 2 1 1 5

W30011 11mm Combination Wrench 1 1 1 6

W30012 12mm Combination Wrench 1 1 1 7

W30013 13mm Combination Wrench 2 1 1 8

W30014 14mm Combination Wrench 1 1 1 9

W30015 15mm Combination Wrench 2 1 1 10

W30016 16mm Combination Wrench 1 1 1 11

W30017 17mm Combination Wrench 1 1 1 12

W30018 18mm Combination Wrench 2 1 1 13

W30019 19mm Combination Wrench 1 1 1 14

W30020 20mm Combination Wrench 1 1 1 15

W30021 21mm Combination Wrench 1 1 1 16

W30022 22mm Combination Wrench 1 1 1 17

W30023 23mm Combination Wrench 1 1 1 18

W30024 24mm Combination Wrench 1 1 1 19

W30027 27mm Combination Wrench 1 1 1 20

W30208 1/4" Combo Wrench 1 1 2 1

W30210 5/16" Combo Wrench 1 1 2 2

W30211 11/32" Combo Wrench 1 1 2 3

W30212 3/8" Combo Wrench 1 1 2 4

W30214 7/16" Combo Wrench 2 1 2 5

W30216 1/2" Combo Wrench 2 1 2 6

W30218 9/16" Combo Wrench 2 1 2 7

W30220 5/8" Combo Wrench 1 1 2 8

W30222 11/16" Combo Wrench 1 1 2 9

W30224 3/4" Combo Wrench 1 1 2 10

W30226 13/16" Combo Wrench 1 1 2 11

W30228 7/8" Combo Wrench 1 1 2 12

W30230 15/16" Combo Wrench 1 1 2 13

W30232 1" Combo Wrench 1 1 2 14

W30234 1 1/16" Combo Wrench 1 1 2 15

W30236 1 1/8" Combo Wrench 1 1 2 16

W30240 1 1/4" Combo Wrench 1 1 2 17

W453 10pc SAE Crow Foot Wrench Set 1 1 2 18

W452 10pc MET Crow Foot Wrench Set 1 1 2 19

W30720 6" Slip Joint Pliers 1 1 3 1

W30721 8" Slip Joint Pliers 1 1 3 2

W30722 10" Slip Joint Pliers 1 1 3 3

W30762 8" Groove Joint Pliers 1 1 3 4

W30741 10" Groove Joint Pliers 1 1 3 5

W30743 12" Groove Joint Pliers 1 1 3 6

W30771 11" Straight Long Handle Pliers 1 1 3 7

S
e

ct
io

n
 1



Model # Description Quantity Section Bar Sequence

W30772 11" 45 Long Handle Pliers 1 1 3 8

W30773 11" 90 Long Handle Pliers 1 1 3 9

W30774 11" Offset Long Handle Plier 1 1 3 10

W30775 11" x 1/2" Diameter Hose Plier 1 1 3 11

W30704 4" Adjustable Wrench 1 1 3 12

W30706 6" Adjustable Wrench 1 1 3 13

W30708 8" Adjustable Wrench 1 1 3 14

W30710 10" Adjustable Wrench 1 1 3 15

W30712 12" Adjustable Wrench 1 1 3 16

W30766 16" Construction Wrench 1 1 3 17

W30763 5" Angled Flush Cutter 1 1 4 1

W30736 Mini Needle Nose Pliers 1 1 4 2

W30737 5" Mini Diagonal Pliers 1 1 4 3

W30725 6" Diagonal Pliers 1 1 4 4

W30726 8" Diagonal Pliers 1 1 4 5

W30731 6" Long Nose Pliers 1 1 4 6

W30732 6" Curved Long Nose Pliers 1 1 4 7

W30733 8" Long Nose Pliers 1 1 4 8

W30728 8" Lineman's Pliers 1 1 4 9

W30729 10" Cable Cutters 1 1 1 10

W30764 9.5" Crimping Pliers 1 1 4 11

W30752 5" Curved Jaw Locking Pliers 1 1 4 12

W30754 7" Curved Jaw Locking Pliers 1 1 4 13

W30756 10" Curved Jaw Locking Pliers 1 1 4 14

W30757 10" Straight Jaw Locking Pliers 1 1 4 15

W30758 6-1/2" Long Nose Locking Pliers 1 1 4 16

W30760 9" Long Nose Locking Pliers 1 1 4 17

W2032 12" Indexing Pry Bar 1 1 4 18

W30782 0.75-2" Adjustable Hook Wrench 1 1 5 1

W30783 1.25-3" Adjustable Hook Wrench 1 1 5 2

W30784 2-4.75" Adjustable Hook Wrench 1 1 5 3

W30202 10 Pc SAE Polish Std Wrench Set 1 1 5 4

W30002 10 Pc MM Polish Std Wrench Set 1 1 5 5

W30634 7pc SAE Ratcheting Wrench Set 1 1 5 6

W30635 7pc MET Ratcheting Wrench Set 1 1 5 7

W30430 4pc SAE Flare Nut Wrench Set 1 1 5 8

W30431 4pc MET Flare Nut Wrench Set 1 1 5 9

W30641 12pc SAE Ratcheting Wrench Set 1 1 Base 1

W30642 12pc MET Ratcheting Wrench Set 1 1 Base 2

W30632 4pc SAE Ratcheting Wrench Set 1 1 Base 3

W30633 4pc MET Ratcheting Wrench Set 1 1 Base 4

W30765 4pc Professional Pliers Set 1 1 Base 3

S
e

ct
io

n
 1



Model # Description Quantity Section Bar Sequence

W36101 1/4" Dr QR Teardrop Ratchet 2 2 1 1

W36106 1/4" Dr Round Head Ratchet 2 2 1 2

W36113 1/4" Dr Round Stubby Ratchet 2 2 1 3

W36180 1/4'' Dr. Long Handle Ratchet 1 2 1 4

W36181 1/4'' Dr Flx Head Long Ratchet 1 2 1 5

W36118 1/4" Dr Flex Handle 2 2 1 6

W36124 1/4" Dr Spinner Handle 2 2 1 7

W36157 1/4" F x 3/8" M Adapter 2 2 1 8

W36130 1/4" Dr Universal Joint 2 2 1 9

W36143 1/4" Dr 3" Extension 2 2 1 10

W36146 1/4" Dr 6" Extension 2 2 1 11

W36940 3pc 1/4" Dr Extension Set 1 2 1 12

W30934 4pc Socket Adapter Set 1 2 1 13

W30933 3pc Universal Joint Set 1 2 1 14

W38170 3/8" Dr 9/16" SP Socket 2 2 1 19

W38160 3/8" Dr 5/8" SP Socket 2 2 1 15

W38163 3/8" Dr 3/4" SP Socket 2 2 1 17

W38164 3/8" Dr 13/16" SP Socket 2 2 1 18

W38161 3/8" Dr 5/8" SP Socket 2 2 1 16

W38162 3/8" Dr 5/8" Long SP Socket 2 2 1 20

W38171 3/8" Dr. 12pt 14mm SP Socket 2 2 1 21

W38168 3/8" Dr 18mm SP Socket 2 2 1 22

W38101 3/8" Dr QR Teardrop Ratchet 2 2 2 1

W38107 3/8" Dr QR Round Head Ratchet 2 2 2 2

W38106 3/8" Dr Round Head Ratchet 2 2 2 3

W38112 3/8" Dr Round Stubby Ratchet 2 2 2 4

W38115 3/8" Dr Round QR Flex Ratchet 1 2 2 5

W38102 3/8" Dr Teardrop Flex Ratchet 1 2 2 6

W38100 3/8" Dr. PT Handle Ratchet 1 2 2 7

W38181 3/8'' Dr Flx Head Long Ratchet 1 2 2 8

W38118 3/8" Dr 10" Flex Handle 2 2 2 9

W38159 3/8" F x 1/4" M Adapter 2 2 2 10

W38158 3/8" F x 1/2" M Adapter 2 2 2 11

W38130 3/8" Dr Universal Joint 2 2 2 12

W38143 3/8" Dr 3" Extension 2 2 2 13

W38146 3/8" Dr 6" Extension 2 2 2 14

W38150 3/8" Dr 10" Extension 2 2 2 15

W38156 3/8" Dr 18" Extension 2 2 2 16

W38152 4pc 3/8" Dr Extension Set 1 2 2 17

W38157 3pc 3/8" Dr Wobble Ext Set 1 2 2 18

W38154 3pc 3/8" Dr Lkg Extension Set 1 2 2 19

W30932 3pc Magnetic Extension Set 1 2 2 20

W32101 1/2" Dr QR Teardrop Ratchet 2 2 3 1

W32106 1/2" Round Head Ratchet 2 2 3 2

W32122 1/2" Dr QR Long Handle Ratchet 1 2 3 3

W32100 1/2" Dr. PT Handle Ratchet 1 2 3 4

S
e

ct
io

n
 2



Model # Description Quantity Section Bar Sequence

W32181 1/2'' Dr Flx Head Long Ratchet 1 2 3 5

W32124 1/2" Dr High Torque Flex Handle 1 2 3 6

W32120 1/2" Dr 18" Flex Handle 1 2 3 7

W32121 1/2" Dr 24" Flex Handle 1 2 3 8

W32157 1/2" F x 3/8" M Adapter 2 2 3 9

W32158 1/2" F x 3/4" M Adapter 2 2 3 10

W32130 1/2" Dr Universal Joint 2 2 3 11

W32143 1/2" Dr 3" Extension 2 2 3 12

W32145 1/2" Dr 5" Extension 2 2 3 13

W32150 1/2" Dr 10" Extension 2 2 3 14

W32140 3pc 1/2" Dr Extension Set 1 2 3 15

M198 3/8" Dr 100 ftlb Torque Wrench 1 2 3 16

M199 1/2" Dr 250 ftlb Torque Wrench 1 2 3 17

W38008 3/8" Dr 1/4" 6pt Socket 1 2 4 1

W38010 3/8" Dr 5/16" 6pt Socket 1 2 4 2

W38012 3/8" Dr 3/8" 6pt Socket 1 2 4 3

W38014 3/8" Dr 7/16" 6pt Socket 1 2 4 4

W38016 3/8" Dr 1/2" 6pt Socket 2 2 4 5

W38018 3/8" Dr 9/16" 6pt Socket 2 2 4 6

W38020 3/8" Dr 5/8" 6pt Socket 1 2 4 7

W38022 3/8" Dr 11/16" 6pt Socket 1 2 4 8

W38024 3/8" Dr 3/4" 6pt Socket 1 2 4 9

W38026 3/8" Dr 13/16" 6pt Socket 1 2 4 10

W38028 3/8" Dr 7/8" 6pt Socket 1 2 4 11

W38030 3/8" Dr 15/16" 6pt Socket 2 2 4 12

W38206 3/8" Dr 6mm 6pt Socket 1 2 4 13

W38207 3/8" Dr 7mm 6pt Socket 1 2 4 14

W38208 3/8" Dr 8mm 6pt Socket 2 2 4 15

W38209 3/8" Dr 9mm 6pt Socket 1 2 4 16

W38210 3/8" Dr 10mm 6pt Socket 2 2 4 17

W38211 3/8" Dr 11mm 6pt Socket 1 2 4 18

W38212 3/8" Dr 12mm 6pt Socket 2 2 4 19

W38213 3/8" Dr 13mm 6pt Socket 2 2 4 20

W38214 3/8" Dr 14mm 6pt Socket 2 2 4 21

W38215 3/8" Dr 15mm 6pt Socket 2 2 4 22

W38216 3/8" Dr 16mm 6pt Socket 1 2 4 23

W38308 3/8" Dr 1/4" 6pt DW Socket 1 2 5 1

W38310 3/8" Dr 5/16" 6pt DW Socket 2 2 5 2

W38312 3/8" Dr 3/8" 6pt DW Socket 1 2 5 3

W38314 3/8" Dr 7/16" 6pt DW Socket 2 2 5 4

W38316 3/8" Dr 1/2" 6pt DW Socket 2 2 5 5

W38318 3/8" Dr 9/16" 6pt DW Socket 2 2 5 6

W38320 3/8" Dr 5/8" 6pt DW Socket 2 2 5 7

W38322 3/8" Dr 11/16" 6pt DW Socket 1 2 5 8

W38324 3/8" Dr 3/4" 6pt DW Socket 2 2 5 9

W38326 3/8" Dr 13/16" 6pt DW Socket 2 2 5 10

S
e

ct
io

n
 2



Model # Description Quantity Section Bar Sequence

W38328 3/8" Dr 7/8" 6pt DW Socket 2 2 5 11

W38330 3/8" Dr 15/16" 6pt DW Socket 2 2 5 12

W38407 3/8" Dr 7mm 6pt DW Socket 1 2 5 13

W38408 3/8" Dr 8mm 6pt DW Socket 2 2 5 14

W38409 3/8" Dr 9mm 6pt DW Socket 1 2 5 15

W38410 3/8" Dr 10mm 6pt DW Socket 2 2 5 16

W38411 3/8" Dr 11mm 6pt DW Socket 1 2 5 17

W38412 3/8" Dr 12mm 6pt DW Socket 2 2 5 18

W38413 3/8" Dr 13mm 6pt DW Socket 2 2 5 19

W38414 3/8" Dr 14mm 6pt DW Socket 2 2 5 20

W38415 3/8" Dr 15mm 6pt DW Socket 2 2 5 21

W38416 3/8" Dr 16mm 6pt DW Socket 1 2 5 22

W38417 3/8" Dr 17mm 6pt DW Socket 1 2 5 23

W32016 1/2" Dr 1/2" 6pt Socket 1 2 6 1

W32018 1/2" Dr 9/16" 6pt Socket 1 2 6 2

W32020 1/2" Dr 5/8" 6pt Socket 1 2 6 3

W32022 1/2" Dr 11/16" 6pt Socket 1 2 6 4

W32024 1/2" Dr 3/4" 6pt Socket 2 2 6 5

W32026 1/2" Dr 13/16" 6pt Socket 1 2 6 6

W32028 1/2" Dr 7/8" 6pt Socket 1 2 6 7

W32030 1/2" Dr 15/16" 6pt Socket 2 2 6 8

W32032 1/2" Dr 1" 6pt Socket 1 2 6 9

W32034 1/2" Dr 1-1/16" 6pt Socket 2 2 6 10

W32036 1/2" Dr 1-1/8" 6pt Socket 2 2 6 11

W32040 1/2" Dr 1-1/4" 6pt Socket 1 2 6 12

W32210 1/2" Dr 10mm 6pt Socket 1 2 6 13

W32212 1/2" Dr 12mm 6pt Socket 1 2 6 14

W32213 1/2" Dr 13mm 6pt Socket 1 2 6 15

W32214 1/2" Dr 14mm 6pt Socket 1 2 6 16

W32215 1/2" Dr 15mm 6pt Socket 2 2 6 17

W32216 1/2" Dr 16mm 6pt Socket 1 2 6 18

W32217 1/2" Dr 17mm 6pt Socket 2 2 6 19

W32218 1/2" Dr 18mm 6pt Socket 2 2 6 20

W32219 1/2" Dr 19mm 6pt Socket 1 2 6 21

W32220 1/2" Dr 20mm 6pt Socket 1 2 6 22

W32221 1/2" Dr 21mm 6pt Socket 2 2 6 23

W32316 1/2" Dr 1/2" 6pt DW Socket 1 2 7 1

W32318 1/2" Dr 9/16" 6pt DW Socket 1 2 7 2

W32320 1/2" Dr 5/8" 6pt DW Socket 1 2 7 3

W32322 1/2" Dr 11/16" 6pt DW Socket 1 2 7 4

W32324 1/2" Dr 3/4" 6pt DW Socket 2 2 7 5

W32326 1/2" Dr 13/16" 6pt DW Socket 2 2 7 6

W32328 1/2" Dr 7/8" 6pt DW Socket 1 2 7 7

W32330 1/2" Dr 15/16" 6pt DW Socket 1 2 7 8

W32332 1/2" Dr 1" 6pt DW Socket 1 2 7 9

W32334 1/2" Dr 1-1/16" 6pt DW Socket 2 2 7 10

S
e

ct
io

n
 2



Model # Description Quantity Section Bar Sequence

W32336 1/2" Dr 1-1/8" 6pt DW Socket 1 2 7 11

W32340 1/2" Dr 1-1/4" 6pt DW Socket 1 2 7 12

W32410 1/2" Dr 10mm 6pt DW Socket 1 2 7 13

W32412 1/2" Dr 12mm 6pt DW Socket 1 2 7 14

W32413 1/2" Dr 13mm 6pt DW Socket 1 2 7 15

W32414 1/2" Dr 14mm 6pt DW Socket 1 2 7 16

W32415 1/2" Dr 15mm 6pt DW Socket 1 2 7 17

W32416 1/2" Dr 16mm 6pt DW Socket 1 2 7 18

W32417 1/2" Dr 17mm 6pt DW Socket 2 2 7 19

W32418 1/2" Dr 18mm 6pt DW Socket 2 2 7 20

W32419 1/2" Dr 19mm 6pt DW Socket 2 2 7 21

W32420 1/2" Dr 20mm 6pt DW Socket 1 2 7 22

W32421 1/2" Dr 21mm 6pt DW Socket 2 2 7 23

W36905 36pc 1/4" Dr Mechanic's Set 1 2 Base 1

W38905 51pc 3/8" Dr Mechanic's Set 1 2 Base 2

W32905 40pc 1/2" Dr Mechanic's Set 1 2 Base 3

W32903 5pc Torque Limiting Extensions 1 2 Base 4

W30967 #2 x 1-1/2" Stubby Screwdriver 1 3 1 1

W30960 #0x2-1/2" Phillips Screwdriver 1 3 1 2

W30961 #1 x 3" Phillips Screwdriver 1 3 1 3

W30962 #1 x 6" Phillips Screwdriver 1 3 1 4

W30963 #2 x 4" Phillips Screwdriver 1 3 1 5

W30964 #2 x 6" Phillips Screwdriver 1 3 1 6

W30965 #2 x 8" Phillips Screwdriver 1 3 1 7

W30968 #3 x 6" Phillips Screwdriver 1 3 1 8

W30969 #4 x 8" Phillips Screwdriver 1 3 1 9

W30994 1/4" x 1-1/2 Stubby Screwdriver 1 3 1 10

W30970 1/8" x 3" Slotted Screwdriver 1 3 1 11

W30986 3/16" x 3" Slotted Screwdriver 1 3 1 12

W30987 3/16" x 6" Slotted Screwdriver 1 3 1 13

W30988 1/4" x 4" Slotted Screwdriver 1 3 1 14

W30990 1/4" x 8" Slotted Screwdriver 1 3 1 16

W30991 5/16" x 6" Slotted Screwdriver 1 3 1 17

W30992 3/8" x 8" Slotted Screwdriver 1 3 1 15

W30983 3/8" x 12" Slotted Screwdriver 1 3 1 19

W30900 8pc Pro Style SAE Nut Driver 1 3 1 18

W32921 1/2" Dr 13/16" Thin Wall Skt 1 3 2 1

W32922 1/2" Dr 7/8" Thin Wall Skt 1 3 2 2

W32923 1/2" Dr 17mm Thin Wall Skt 1 3 2 3

W32924 1/2" Dr 19mm/3/4 Thin Wall Skt 1 3 2 4

W32925 1/2" Dr 21mm Thin Wall Skt 1 3 2 5

W32926 1/2" Dr 22mm Thin Wall Skt 1 3 2 6

W80282 8pc SAE Folding Hex Key Set 1 3 2 7

W80283 8pc MET Folding Hex Key Set 1 3 2 8

W80284 8pc Star Folding Hex Key Set 1 3 2 9

S
e

ct
io

n
 2

S
e

ct
io

n
 3



Model # Description Quantity Section Bar Sequence

W86101 12pc Long Hex Key Set 2 3 2 10

W86103 9pc long Hex Key Set 2 3 2 11

W30898 6pc Jumbo Screwdriver Set 1 3 2 12

W30901 8pc Pro Style MET Nut Driver 1 3 2 13

W36001 1/4" Dr. Aluminum Socket Rail 1 3 3 1

W38004 3/8" Dr. Aluminum Socket Rail 1 3 3 2

W32004 1/2" Dr. Aluminum Socket Rail 1 3 3 3

W36002 10pc 1/4" Dr 6pt SAE Socket Set 1 3 3 4

W36202 10pc 1/4" Dr 6pt MET Socket Set 1 3 3 5

W36300 10pc 1/4" Dr 6pt SAE DW Skt Set 1 3 3 6

W36400 10pc 1/4" Dr 6pt MET DW Skt Set 1 3 3 7

W36980 6pc 1/4" Dr. SAE Flex Skt Set 1 3 3 8

W36981 9pc 1/4" Dr. MET Flex Skt Set 1 3 3 9

W38980 7pc 3/8" Dr. SAE Flex Skt Set 1 3 3 10

W38981 10pc 3/8" Dr. MET Flex Skt Set 1 3 3 11

W38752 10pc 3/8" Dr Star Bit Skt Set 1 3 3 12

W38217 3/8" Dr 17mm 6pt Socket 1 3 4 1

W38218 3/8" Dr 18mm 6pt Socket 2 3 4 2

W38219 3/8" Dr 19mm 6pt Socket 1 3 4 3

W38220 3/8" Dr 20mm 6pt Socket 1 3 4 4

W38221 3/8" Dr 21mm 6pt Socket 1 3 4 5

W38300 10pc 3/8" Dr SAE DW Socket Set 1 3 4 6

W38402 10pc 3/8" Dr MET DW Socket Set 1 3 4 7

W32300 8pc 1/2" Dr SAE DW Socket Set 1 3 4 8

W32400 8pc 1/2" Dr MET DW Socket Set 1 3 4 9

W38802 12pc Star Bit Socket Set 1 3 4 10

W38870 8pc 3/8" Dr SAE Hex Bit Set 1 3 4 11

W38890 8pc 3/8" Dr MET Hex Bit Set 1 3 4 12

W38886 6pc 1/2" Dr SAE/MET Hex Bit Set 1 3 4 13

W38750 7pc 3/8" Dr SAE Hex Bit Set 1 3 4 14

W38418 3/8" Dr 18mm 6pt DW Socket 2 3 5 1

W38419 3/8" Dr 19mm 6pt DW Socket 1 3 5 2

W38421 3/8" Dr 21mm 6pt DW Socket 1 3 5 3

W38422 3/8" Dr 22mm 6pt DW Socket 1 3 5 4

W38222 3/8" Dr 22mm 6pt Socket 1 3 5 5

W32222 1/2" Dr 22mm 6pt Socket 1 3 6 1

W32223 1/2" Dr 23mm 6pt Socket 1 3 6 2

W32224 1/2" Dr 24mm 6pt Socket 2 3 6 3

W32225 1/2" Dr 25mm 6pt Socket 1 3 6 4

W32226 1/2" Dr 26mm 6pt Socket 1 3 6 5

W38002 10pc 3/8" Dr SAE Socket Set 1 3 6 6

W38202 10pc 3/8" Dr MET Socket Set 1 3 6 7

W32002 9pc 1/2" Dr SAE Socket Set 1 3 6 8

W32202 9pc 1/2" Dr MET Socket Set 1 3 6 9

W1338 9 Pc External Star Skt Set ChrV 1 3 6 10

W13500 MorTorq Bit Socket Set, 5pc 1 3 6 11

S
e

ct
io

n
 3



Model # Description Quantity Section Bar Sequence

W1385 9 Pc Tamper Proof Star Skt Set 1 3 6 12

W80564 10pc 5 Lobe Socket Set 1 3 6 13

W38751 7pc 3/8" Dr MET Hex Bit Set 1 3 6 14

W32422 1/2" Dr 22mm 6pt DW Socket 2 3 7 1

W32423 1/2" Dr 23mm 6pt DW Socket 1 3 7 2

W32424 1/2" Dr 24mm 6pt DW Socket 1 3 7 3

W32427 1/2" Dr 27mm 6pt DW Socket 1 3 7 4

W32227 1/2" Dr 27mm 6pt Socket 2 3 7 5

M796 38pc Impact Socket Set 1 3 Base 1

M795 8pc Impact Adaptor Set 1 3 Base 2

W30896 6pc Prof. Screwdriver Set 1 3 Base 3

W30899 5pc Star Screwdriver Set 1 3 Base 4

S
e

ct
io

n
 3



It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

P
ro

 H
a

n
d

 T
o

o
ls

 P
la

n
o

g
ra

m
S

e
c

ti
o

n
 1

N
o
tc

h
 

1
" 

B
a
r

N
o
tc

h
 

8

3
" 

B
a
r

N
o
tc

h
 

6
" 

B
a
r

N
o
tc

h
 

9
" 

B
a
r

N
o
tc

h
 

1
2
" 

B
a
r

B
a
s
e
 D

e
c
k

W
3
0
0
0
6

1
1

W
3
0
0
0
7

1
2

W
3
0
0
0
8

1
3

W
3
0
0
0
9

1
4

W
3
0
0
1
0

1
5

W
3
0
0
1
1

1
6

W
3
0
0
1
2

1
7

W
3
0
0
1
3

1
8

W
3
0
0
1
4

1
9

W
3
0
0
1
5

1
1
0

W
3
0
0
1
6

1
11

W
3
0
0
1
7

1
1
2

W
3
0
0
1
8

1
1
3

W
3
0
0
1
9

1
1
4

W
3
0
0
2
0

1
1
5

W
3
0
0
2
1

1
1
6

W
3
0
0
2
2

1
1
7

W
3
0
0
2
3

1
1
8

W
3
0
0
2
4

1
1
9

W
3
0
0
2
7

1
2
0

W
3
0
2
0
8

2
1

W
3
0
2
1
0

2
2

W
3
0
2
1
1

2
3

W
3
0
2
1
2

2
4

W
3
0
2
1
4

2
5

W
3
0
2
1
6

2
6

W
3
0
2
1
8

2
7

W
3
0
2
2
0

2
8

W
3
0
2
2
2

2
9

W
3
0
2
2
4

2
1
0

W
3
0
2
2
6

2
11

W
3
0
2
2
8

2
1
2

W
3
0
2
3
0

2
1
3

W
3
0
2
3
2

2
1
4

W
3
0
2
3
4

2
1
5

W
3
0
2
3
6

2
1
6

W
3
0
2
4
0

2
1
7

W
4
5
3

2
1
8

W
4
5
2

2
1
9

W
3
0
7
2
0

3
1

W
3
0
7
2
1

3
2

W
3
0
7
2
2

3
3

W
3
0
7
6
2

3
4

W
3
0
7
4
1

3
5

W
3
0
7
4
3

3
6

W
3
0
7
7
1

3
7

W
3
0
7
7
2

3
8

W
3
0
7
7
3

3
9

W
3
0
7
7
4

3
1
0

W
3
0
7
7
5

3
11

W
3
0
7
0
4

3
1
2

W
3
0
7
0
6

3
1
3

W
3
0
7
0
8

3
1
4

W
3
0
7
1
0

3
1
5

W
3
0
7
1
2

3
1
6

W
3
0
7
6
6

3
1
7

W
3
0
7
6
3

4
1

W
3
0
7
3
6

4
2

W
3
0
7
3
7

4
3

W
3
0
7
2
5

4
4

W
3
0
7
2
6

4
5

W
3
0
7
3
1

4
6

W
3
0
7
3
2

4
7

W
3
0
7
3
3

4
8

W
3
0
7
2
8

4
9

W
3
0
7
2
9

1
1
0

W
3
0
7
6
4

4
11

W
3
0
7
5
2

4
1
2

W
3
0
7
5
4

4
1
3

W
3
0
7
5
6

4
1
4

W
3
0
7
5
7

4
1
5

W
3
0
7
5
8

4
1
6

W
3
0
7
6
0

4
1
7

W
2
0
3
2

4
1
8

W
3
0
7
8
2

5
1

W
3
0
7
8
3

5
2

W
3
0
7
8
4

5
3

W
3
0
2
0
2

5
4

W
3
0
0
0
2

5
5

W
3
0
6
3
4

5
6

W
3
0
6
3
5

5
7

W
3
0
4
3
0

5
8

W
3
0
4
3
1

5
9

W
3
0
6
4
1

B
a
se

1

W
3
0
6
4
2

B
a
se

2

W
3
0
6
3
2

B
a
se

3

W
3
0
6
3
3

B
a
se

4

W
3
0
7
6
5

B
a
se

3

W30006

W30007

W30008

W30009

W30010

W30011

W30012

W30013

W30014

W30015

W30016

W30017

W30018

W30019

W30020

W30021

W30022

W30023

W30024

W30027

W30208

W30210

W30211

W30212

W30214

W30216

W30218

W30220

W30222

W30224

W30226

W30228

W30230

W30232

W30234

W30236

W30240

W453

W452

W30720

W30721

W30722

W30762

W30741

W30743

W30771

W30772

W30773

W30774

W30775

W30704

W30706

W30708

W30710

W30712

W30766

W30763

W30736

W30737

W30725

W30726

W30731

W30732

W30733

W30728

W30729

W30764

W30752

W30754

W30756

W30757

W30758

W30760

W2032

W30782

W30783

W30784

W30202

W30002

W30634

W30635

W30430

W30431

W
3
0
6
4
1

W
3
0
6
4
2

W
3
0
6
3
2

W
3
0
6
3
3

W
3
0
7
6
5



It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

P
ro

 H
a

n
d

 T
o

o
ls

 P
la

n
o

g
ra

m
S

e
c

ti
o

n
 2

N
o
tc

h
 

1
" 

B
a
r

N
o
tc

h
 

3
" 

B
a
r

N
o
tc

h
 

6
" 

B
a
r

N
o
tc

h
 

9
" 

B
a
r

N
o
tc

h
 

9
" 

B
a
r

N
o
tc

h
 

1
2
" 

B
a
r

B
a
s
e
 D

e
c
k

W36101

W36106

W36113

W36180

W36181

W36118

W36124

W36157

W36130

W36143

W36146

W36940

W30934

W30933

W38170

W38160

W38163

W38164

W38161

W38162

W38171

W38168

W
3
6
1
0
1

1
1

W
3
6
1
0
6

1
2

W
3
6
1
1
3

1
3

W
3
6
1
8
0

1
4

W
3
6
1
8
1

1
5

W
3
6
1
1
8

1
6

W
3
6
1
2
4

1
7

W
3
6
1
5
7

1
8

W
3
6
1
3
0

1
9

W
3
6
1
4
3

1
1
0

W
3
6
1
4
6

1
11

W
3
6
9
4
0

1
1
2

W
3
0
9
3
4

1
1
3

W
3
0
9
3
3

1
1
4

W
3
8
1
7
0

1
1
9

W
3
8
1
6
0

1
1
5

W
3
8
1
6
3

1
1
7

W
3
8
1
6
4

1
1
8

W
3
8
1
6
1

1
1
6

W
3
8
1
6
2

1
2
0

W
3
8
1
7
1

1
2
1

W
3
8
1
6
8

1
2
2

W
3
8
1
0
1

2
1

W
3
8
1
0
7

2
2

W
3
8
1
0
6

2
3

W
3
8
1
1
2

2
4

W
3
8
1
1
5

2
5

W
3
8
1
0
2

2
6

W
3
8
1
0
0

2
7

W
3
8
1
8
1

2
8

W
3
8
1
1
8

2
9

W
3
8
1
5
9

2
1
0

W
3
8
1
5
8

2
11

W
3
8
1
3
0

2
1
2

W
3
8
1
4
3

2
1
3

W
3
8
1
4
6

2
1
4

W
3
8
1
5
0

2
1
5

W
3
8
1
5
6

2
1
6

W
3
8
1
5
2

2
1
7

W
3
8
1
5
7

2
1
8

W
3
8
1
5
4

2
1
9

W
3
0
9
3
2

2
2
0

W
3
2
1
0
1

3
1

W
3
2
1
0
6

3
2

W
3
2
1
2
2

3
3

W
3
2
1
0
0

3
4

W
3
2
1
8
1

3
5

W
3
2
1
2
4

3
6

W
3
2
1
2
0

3
7

W
3
2
1
2
1

3
8

W
3
2
1
5
7

3
9

W
3
2
1
5
8

3
1
0

W
3
2
1
3
0

3
11

W
3
2
1
4
3

3
1
2

W
3
2
1
4
5

3
1
3

W
3
2
1
5
0

3
1
4

W
3
2
1
4
0

3
1
5

M
1
9
8

3
1
6

M
1
9
9

3
1
7

W
3
8
0
0
8

4
1

W
3
8
0
1
0

4
2

W
3
8
0
1
2

4
3

W
3
8
0
1
4

4
4

W
3
8
0
1
6

4
5

W
3
8
0
1
8

4
6

W
3
8
0
2
0

4
7

W
3
8
0
2
2

4
8

W
3
8
0
2
4

4
9

W
3
8
0
2
6

4
1
0

W
3
8
0
2
8

4
11

W
3
8
0
3
0

4
1
2

W
3
8
2
0
6

4
1
3

W
3
8
2
0
7

4
1
4

W
3
8
2
0
8

4
1
5

W
3
8
2
0
9

4
1
6

W
3
8
2
1
0

4
1
7

W
3
8
2
1
1

4
1
8

W
3
8
2
1
2

4
1
9

W
3
8
2
1
3

4
2
0

W
3
8
2
1
4

4
2
1

W
3
8
2
1
5

4
2
2

W
3
8
2
1
6

4
2
3

W
3
8
3
0
8

5
1

W
3
8
3
1
0

5
2

W
3
8
3
1
2

5
3

W
3
8
3
1
4

5
4

W
3
8
3
1
6

5
5

W
3
8
3
1
8

5
6

W
3
8
3
2
0

5
7

W
3
8
3
2
2

5
8

W
3
8
3
2
4

5
9

W
3
8
3
2
6

5
1
0

W
3
8
3
2
8

5
11

W
3
8
3
3
0

5
1
2

W
3
8
4
0
7

5
1
3

W
3
8
4
0
8

5
1
4

W
3
8
4
0
9

5
1
5

W
3
8
4
1
0

5
1
6

W
3
8
4
1
1

5
1
7

W
3
8
4
1
2

5
1
8

W
3
8
4
1
3

5
1
9

W
3
8
4
1
4

5
2
0

W
3
8
4
1
5

5
2
1

W
3
8
4
1
6

5
2
2

W
3
8
4
1
7

5
2
3

W
3
2
0
1
6

6
1

W
3
2
0
1
8

6
2

W
3
2
0
2
0

6
3

W
3
2
0
2
2

6
4

W
3
2
0
2
4

6
5

W
3
2
0
2
6

6
6

W
3
2
0
2
8

6
7

W
3
2
0
3
0

6
8

W
3
2
0
3
2

6
9

W
3
2
0
3
4

6
1
0

W
3
2
0
3
6

6
11

W
3
2
0
4
0

6
1
2

W
3
2
2
1
0

6
1
3

W
3
2
2
1
2

6
1
4

W
3
2
2
1
3

6
1
5

W
3
2
2
1
4

6
1
6

W
3
2
2
1
5

6
1
7

W
3
2
2
1
6

6
1
8

W
3
2
2
1
7

6
1
9

W
3
2
2
1
8

6
2
0

W
3
2
2
1
9

6
2
1

W
3
2
2
2
0

6
2
2

W
3
2
2
2
1

6
2
3

W
3
2
3
1
6

7
1

W
3
2
3
1
8

7
2

W
3
2
3
2
0

7
3

W
3
2
3
2
2

7
4

W
3
2
3
2
4

7
5

W
3
2
3
2
6

7
6

W
3
2
3
2
8

7
7

W
3
2
3
3
0

7
8

W
3
2
3
3
2

7
9

W
3
2
3
3
4

7
1
0

W
3
2
3
3
6

7
11

W
3
2
3
4
0

7
1
2

W
3
2
4
1
0

7
1
3

W
3
2
4
1
2

7
1
4

W
3
2
4
1
3

7
1
5

W
3
2
4
1
4

7
1
6

W
3
2
4
1
5

7
1
7

W
3
2
4
1
6

7
1
8

W
3
2
4
1
7

7
1
9

W
3
2
4
1
8

7
2
0

W
3
2
4
1
9

7
2
1

W
3
2
4
2
0

7
2
2

W
3
2
4
2
1

7
2
3

W
3
6
9
0
5

B
a
se

1

W
3
8
9
0
5

B
a
se

2

W
3
2
9
0
5

B
a
se

3

W
3
2
9
0
3

B
a
se

4

N
o
tc

h
 

1
2
" 

B
a
r

W38101

W38107

W38106

W38112

W38115

W38102

W38100

W38181

W38118

W38159

W38158

W38130

W38143

W38146

W38150

W38156

W38152

W38157

W38154

W30932

W32101

W32106

W32122

W32100

W32181

W32124

W32120

W32121

W32157

W32158

W32130

W32143

W32145

W32150

W32140

M198

M199

W38008

W38010

W38012

W38014

W38016

W38018

W38020

W38022

W38024

W38026

W38028

W38030

W38206

W38207

W38208

W38209

W38210

W38211

W38212

W38213

W38214

W38215

W38216

W38308

W38310

W38312

W38314

W38316

W38318

W38320

W38322

W38324

W38326

W38328

W38330

W38407

W38408

W38409

W38410

W38411

W38412

W38413

W38414

W38415

W38416

W38417

W32016

W32018

W32020

W32022

W32024

W32026

W32028

W32030

W32032

W32034

W32036

W32040

W32210

W32212

W32213

W32214

W32215

W32216

W32217

W32218

W32219

W32220

W32221

W32316

W32318

W32320

W32322

W32324

W32326

W32328

W32330

W32332

W32334

W32336

W32340

W32410

W32412

W32413

W32414

W32415

W32416

W32417

W32418

W32419

W32420

W32421

W
3
6
9
0
5

W
3
8
9
0
5

W
3
2
9
0
5

W
3
2
9
0
3



It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

It
e
m

B
a
r

S
e
q

P
ro

 H
a

n
d

 T
o

o
ls

 P
la

n
o

g
ra

m
S

e
c

ti
o

n
 3

N
o
tc

h
 

1
" 

B
a
r

N
o
tc

h
 

8

3
" 

B
a
r

N
o
tc

h
 

6
" 

B
a
r

N
o
tc

h
 

9
" 

B
a
r

N
o
tc

h
 

9
" 

B
a
r

N
o
tc

h
 

1
2
" 

B
a
r

B
a
s
e
 D

e
c
k

N
o
tc

h
 

1
2
" 

B
a
r

W
3
0
9
6
7

1
1

W
3
0
9
6
0

1
2

W
3
0
9
6
1

1
3

W
3
0
9
6
2

1
4

W
3
0
9
6
3

1
5

W
3
0
9
6
4

1
6

W
3
0
9
6
5

1
7

W
3
0
9
6
8

1
8

W
3
0
9
6
9

1
9

W
3
0
9
9
4

1
1
0

W
3
0
9
7
0

1
11

W
3
0
9
8
6

1
1
2

W
3
0
9
8
7

1
1
3

W
3
0
9
8
8

1
1
4

W
3
0
9
9
0

1
1
6

W
3
0
9
9
1

1
1
7

W
3
0
9
9
2

1
1
5

W
3
0
9
8
3

1
1
9

W
3
0
9
0
0

1
1
8

W
3
2
9
2
1

2
1

W
3
2
9
2
2

2
2

W
3
2
9
2
3

2
3

W
3
2
9
2
4

2
4

W
3
2
9
2
5

2
5

W
3
2
9
2
6

2
6

W
8
0
2
8
2

2
7

W
8
0
2
8
3

2
8

W
8
0
2
8
4

2
9

W
8
6
1
0
1

2
1
0

W
8
6
1
0
3

2
11

W
3
0
8
9
8

2
1
2

W
3
0
9
0
1

2
1
3

W
3
6
0
0
1

3
1

W
3
8
0
0
4

3
2

W
3
2
0
0
4

3
3

W
3
6
0
0
2

3
4

W
3
6
2
0
2

3
5

W
3
6
3
0
0

3
6

W
3
6
4
0
0

3
7

W
3
6
9
8
0

3
8

W
3
6
9
8
1

3
9

W
3
8
9
8
0

3
1
0

W
3
8
9
8
1

3
11

W
3
8
7
5
2

3
1
2

W
3
8
2
1
7

4
1

W
3
8
2
1
8

4
2

W
3
8
2
1
9

4
3

W
3
8
2
2
0

4
4

W
3
8
2
2
1

4
5

W
3
8
3
0
0

4
6

W
3
8
4
0
2

4
7

W
3
2
3
0
0

4
8

W
3
2
4
0
0

4
9

W
3
8
8
0
2

4
1
0

W
3
8
8
7
0

4
11

W
3
8
8
9
0

4
1
2

W
3
8
8
8
6

4
1
3

W
3
8
7
5
0

4
1
4

W
3
8
4
1
8

5
1

W
3
8
4
1
9

5
2

W
3
8
4
2
1

5
3

W
3
8
4
2
2

5
4

W
3
8
2
2
2

5
5

W
3
2
2
2
2

6
1

W
3
2
2
2
3

6
2

W
3
2
2
2
4

6
3

W
3
2
2
2
5

6
4

W
3
2
2
2
6

6
5

W
3
8
0
0
2

6
6

W
3
8
2
0
2

6
7

W
3
2
0
0
2

6
8

W
3
2
2
0
2

6
9

W
1
3
3
8

6
1
0

W
1
3
5
0
0

6
11

W
1
3
8
5

6
1
2

W
8
0
5
6
4

6
1
3

W
3
8
7
5
1

6
1
4

W
3
2
4
2
2

7
1

W
3
2
4
2
3

7
2

W
3
2
4
2
4

7
3

W
3
2
4
2
7

7
4

W
3
2
2
2
7

7
5

M
7
9
6

B
a
se

1

M
7
9
5

B
a
se

2

W
3
0
8
9
6

B
a
se

3

W
3
0
8
9
9

B
a
se

4

W30967

W30960

W30961

W30962

W30963

W30964

W30965

W30968

W30969

W30994

W30970

W30986

W30987

W30988

W30990

W30991

W30992

W30983

W30900

W32921

W32922

W32923

W32924

W32925

W32926

W80282

W80283

W80284

W86101

W86103

W30898

W30901

W36001

W38004

W32004

W36002

W36202

W36300

W36400

W36980

W36981

W38980

W38981

W38752

W38217

W38218

W38219

W38220

W38221

W38418

W38419

W38421

W38422

W38222

W32222

W32223

W32224

W32225

W32226

M
7
9
6

M
7
9
5

W
3
0
8
9
6

W
3
0
8
9
9

W38300

W38402

W32300

W32400

W38802

W38870

W38890

W38886

W38750

W38002

W38202

W32002

W32202

W1338

W13500

W1385

W80564

W38751

W32422

W32423

W32424

W32427

W32227




